TH4F4R KEAEHRR (CERRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 7.5
BOD mg/L 0.5 =2 0.6
CcOD meg/L 0.5 — 3.7

FEYE  [meg/L [ <25 i

BEEE | meg/L 0.5 15= 10

Bk AAY [ meg/L 0.1 - 5.5

DI mg/L]  0.0003 =0.01 0.0003%K %
YTy mg/L 0.1 BHEINAL]  0.1KE
£ mg/L 0.005 =0.01 0.005% &

AN iVIA mg/L 0.02 =0.05 0.02k &
t& mg/L]  0.005 =0.01 0.005:K i
#aIK 2R me/L] 0.0005 =0.005 [ 0.0005%F

FhELKEE |mg/L] 0.0005 [#HIhZLY 0.0005%K %

w71z mg/L]  0.0005 [#HEh7ZzLY] 0.0005%
1,1,1-M)400149] mg/L|  0.0005 =<1 0.0005% &

FJ/oAIFLY | mg/L|  0.002 <0.03 0.002% &

Th590RIFLY [ mg/L]  0.0005 =0.01 0.0005%k i
14-CAF Y [ mg/L]  0.005 =0.05

UERREYY [ me/L 0.003 -

EEAZER [mg/L 0.01 -

TUETHEZE R [ me/L 0.01 -
HAFRRAEZE SR [ me/L|  0.005 <10

TEERHEER [me/L 0.005 =
£y mg/L 0.003 -

SEZF mg/L 0.01 - _—
— EkE | - - - 454890
Xz - - - BEh
Sum ° - - 24.0
KB ° - - 19.0
BR - - - mE
2KE cm - - 30




TH4FESR KERAERR (X -ABARFE - o Ethst)

=iE 5
WEEE |t | eE TR Eymen (B L BEHEE S0R0%
R3.5 R3.5 R3.5
pH - - - 7.6 7.9 8.0
BOD meg/L 0.5 - 1.8 1 -
COD meg/L 0.5 - 3.8 2.9 3.3
FEE  [meg/L 1 - 2 1 5
BAEEEE | me/L 0.5 - 6.0 6.8 8.8
Bt AAY [ meg/L 10 - 10100 15100 -
DI mg/L|  0.0003 =0.01 0.0003k;# | 0.0003K;#% | 0.0003% %
£ meg/L]  0.005 =<0.01 0.005%;#% | 0.005k:# | 0.005%K%
7Ufizos [ mg/L 0.01 <0.05 0.01Ki 0.01K 0.01K i
BERMEIUNY | me/L 0.1 - 0.1 01k | 01XkF
/KB - - - SMAES A 198 HF4ESF 198 S 4E58 190
SUR ° - - 19.0 19.0 17.0
KB ° - - 17.0 17.0 19.0
BER - - - me mE me
=X - - - i) B i)

*NDIX7E & T IRER .



TH4F6R KEAEHRR (CERRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 7.8
BOD meg/L 0.5 =2 0.5k &
COD meg/L 0.5 - 25

FEYE  [meg/L [ <25 i

BEEE | meg/L 0.5 715= 8.6

Bk AAY [ meg/L 0.1 - 9.8

TEIA mg/L| 0.0003 <0.01
YTy mg/L 0.1 BHInAL
£ mg/L 0.005 =0.01

AN iVIA mg/L 0.02 =0.05
&= meg/L 0.005 =0.01

#aIK 2R me/L] 0.0005 =<0.005

FLEVKEE Tme/L] 00005 [HHEEHZELY

HUIEIEE 71z mg/L]  0.0005 [#HEHLILY
1,1,1-M)400149] mg/L|  0.0005 =1

FpooIFLy [me/L]  0.002 <0.03

7+59001FLY [ mg/L]  0.0005 =0.01
14->AF Y [ mg/L]  0.005 =0.05

JUEEEEYY | meg/L]  0.003 - 0.003% &

EEAZER [mg/L 0.01 - 0.07

TUETHEZE R [ me/L 0.01 - 0.01Ki&
HIHERAE=E X [mg/L]  0.005 <10 0.005F i

FEHRSREER | me/L 0.005 = 0.3
£y mg/L 0.003 - 0.005

2EF mg/L 0.01 - 0.39

KB - - - SHMAE6H9E
Kz - - - Bh
Sum ° - - 24.0
KB ° - - 19.0
BER - - - ®mE

2KE cm - - 30




TH4ETR KERERER (X -BAMEFE-TORNEO)

=iE g 5
5ﬂIIEI§E i{ilz ETBE{E Iﬁtﬁgiﬁﬁg KJ”(E*H) Eﬂmﬁﬁﬁﬁﬁ lIa)WJ”IﬂD
R4.7 R4.7 R4.7
pH - - - 7.8 7.9 7.9
BOD mg/L 0.5 — 2 1.1 1.1
CcOD meg/L 0.5 — 3.6 3.2 3.7
FEE  [meg/L 1 — [ 2 15
BAEEEE | me/L 0.5 — 6.1 6.0 6.1
Bt AAY [ meg/L 10 - 16600 16600
hE394 me/L] 0.0003 <0.01 0.0003%% | 0.0003%K &
£ mg/L 0.005 =0.01 0.005%;#% | 0.005%K &
7Ufizos [ mg/L 0.02 <0.05 0.01Ki 0.01K
BERMEIUNY | me/L 0.1 - 0.1k#E | 01k
/KB - - - SMAETA 3B S F4ETR 138 S 4E7H 130
B ° - - 28.0 31.0 24.0
KB ° - - 26.0 26.0 25.0
R - - - me mE me
=X - - - i) [3E) A

*NDIX7E & T IRER .




TH4E8R KERERR (Bt k)

AEAE | B4 R TR B [ OREE
pH - - - 8.0
BOD mg/L - - -
CcOD meg/L 0.5 — 25

FEE  [meg/L 1 — i

BEEE | meg/L 0.5 - 6.2

Bt AAY [ meg/L 10 - -

DI mg/L]  0.0003 =0.01 0.0003% %
£ mg/L 0.005 =0.01 0.005%k &

FfiZah [ meg/L 0.01 <0.05 0.01%KF

BERMEIUNY | me/L 0.1 - 0.1k# |

/KB - - - SF4ESH 108
SUR ° - - 29.0
KB ° - - 27.0
R - - - me
=X - - - i)

*NDIX7E & T IRER .



TH4FESR KEAEHRR (CERTHRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 8.2
BOD mg/L 0.5 =2 0.5% &
CcOD meg/L 0.5 — 3.4

EHEME I mg/L [ <25 B

BEEE | meg/L 0.5 715= 6.8

Bk AAY [ meg/L 0.1 - 12

DI mg/L]  0.0003 =0.01 0.0003%K %
YTy mg/L 0.1 BHEINAL]  0.1KE
£ mg/L 0.005 =0.01 0.005% &

AN iVIA mg/L 0.02 =0.05 0.01K &
t& mg/L]  0.005 =0.01 0.005:K i
#aIK 2R me/L] 0.0005 =0.005 [ 0.0005%F

FhELKEE |mg/L] 0.0005 [#HIhZLY 0.0005%K %

w71z mg/L]  0.0005 [#HEh7ZzLY] 0.0005%
1,1,1-M)400149] mg/L|  0.0005 =<1 0.0005% &

FJ/oAIFLY | mg/L|  0.002 <0.03 0.002% &

Th590RIFLY [ mg/L]  0.0005 =0.01 0.0005%k i
14-CAF Y [ mg/L]  0.005 =0.05

UERREYY [ me/L 0.003 -

EEAZER [mg/L 0.01 -

FUE-TREZ % | me/L 0.01 -
HAFRRAEZE SR [ me/L|  0.005 <10

TEERHEER [me/L 0.005 =
£y mg/L 0.003 -
2EF mg/L 0.01 - _—

KB - - - SM4ESA 108
Xz - - - ED)
Sum ° - - 29.0
KB ° - - 27.0
BR - - - mE

2KE cm - - 20




TH4EIR KERERR (X -BAMEHEFE- TORNEO)

=iE
AEAE | B R TR By LR LD BFE
pH - - - 7.8 7.9
BOD meg/L 0.5 - 0.9 0.7
COD meg/L 0.5 - 2.6 2.6
EHEME [ mg/L 1 - 2 2
BEEE | meg/L 0.5 - 4.3 5.8
Bt AAY [ meg/L 10 - 16200 16000
hE394 me/L] 0.0003 <0.01 0.0003%% | 0.0003%K &
£ mg/L 0.005 =0.01 0.005%;#% | 0.005%K &
ANV mg/L 0.02 =0.05 0.01K & 0.01KE
BERMEIUNY | me/L 0.1 - 001k | 001kKHE
/KB - - - [M4EIRIE | SF4EIR9IE
SUR ° - - 26.0 26.0
KB ° - - 26.0 26.0
BER - - - # &
=X - - - i i

*NDIX7E & T IRER .



TH4FE10A KERERR(CEIATHRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 8.1
BOD mg/L 0.5 =2 0.5
CcOD meg/L 0.5 — 3.1

FEYE  [meg/L [ <25 i

BEEE | meg/L 0.5 715= 8.6

Bk AAY [ meg/L 0.1 - 10
hE394 me/L] 0.0003 <0.01
YTy mg/L 0.1 BRHEINELY
£ mg/L 0.005 =0.01

AN iVIA mg/L 0.02 =0.05
&= meg/L 0.005 =0.01

#aIK 2R me/L] 0.0005 <0.005

FLEVKEE Tme/L] 00005 [HHEEHZELY

w71z mg/L]  0.0005 [fHESh7AZLY
1,1,1-M)400149] mg/L|  0.0005 =1

FpooIFLy [me/L]  0.002 <0.03

7+59001FLY [ mg/L]  0.0005 =0.01
14-CAF Y [ mg/L]  0.005 =0.05

UERREYY [ me/L 0.003 -

EEAZER [mg/L 0.01 -

TUETHEZE R [ me/L 0.01 -
HAFRRAEZE SR [ me/L|  0.005 <10

TEERHEER [me/L 0.005 =
£y mg/L 0.003 -

SEZF mg/L 0.01 - _——

KB - - - SM4E1086H
Xz - - - =1
Sum ° - - 18.0
KB ° - - 18.0
BER - - - ®mE

2KE cm - - 20




TH4FEN A KERERHR (R -AHEERE- #H0FEhE)

I=§ =3 5
WEEE |t | EE TR Eymen (U B L BAREE 20R0%
R4.11 R4.11 R4.11
pH - - - 7.9 7.9 8.0
BOD mg/L 0.5 - 1.0 1.0
CcOD meg/L 0.5 - 2.1 1.8 1.9
FEE  [meg/L 1 — 11 3 6
BAEEEE | me/L 0.5 — 5.8 6.3 7.0
Bt AAY [ meg/L 10 - 178000 17100
DI mg/L|  0.0003 =0.01 0.0003k;# | 0.0003K;#% | 0.0003% %
£ meg/L]  0.005 =<0.01 0.005%;#% | 0.005k:# | 0.005%K%
ANV mg/L 0.02 =0.05 0.01KHE 0.01K 0.01%&
BERMEIUNY | me/L 0.1 - o1k | o01X# 0.1k
KH - - - SHsgE1 A28 $mags11 A28 SF4E11 85228
SUR ° - - 19 19 18
KB ° - - 17 18 19
BER - - - &= F &
=X - - - = i i

*NDIX7E & T IRER .




TH4FE12A KERERR(CETHRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 8.4
BOD mg/L 0.5 =2 0.5% &
CcOD meg/L 0.5 — 1.7

EHEME I mg/L [ <25 B

BEEE | meg/L 0.5 15= 11

Bk AAY [ meg/L 0.1 - 9.6

DI mg/L]  0.0003 =0.01 0.0003%K %
YTy mg/L 0.1 BHEINAL]  0.1KE
£ mg/L 0.005 =0.01 0.005% &

AN iVIA mg/L 0.02 =0.05 0.01K &
t& mg/L]  0.005 =0.01 0.005:K i
#aIK 2R me/L] 0.0005 =0.005 [ 0.0005%F

FhELKEE |mg/L] 0.0005 [#HIhZLY 0.0005%K %

w71z mg/L]  0.0005 [#HEh7ZzLY] 0.0005%
1,1,1-M)400149] mg/L|  0.0005 =<1 0.0005% &

FJ/oAIFLY | mg/L|  0.002 <0.03 0.002% &

Th590RIFLY [ mg/L]  0.0005 =0.01 0.0005%k i
14-CAF Y [ mg/L]  0.005 =0.05

UERREYY [ me/L 0.003 -

EEAZER [mg/L 0.01 -

TUETHEZE R [ me/L 0.01 -
HAFRRAEZE SR [ me/L|  0.005 <10

TEERHEER [me/L 0.005 =
£y mg/L 0.003 -

SEZF mg/L 0.01 - _—

/KB - - - SM4E12898
Xz - - - i
SUR ° - - 7.0
KB ° - - 7.0
BR - - - =

2KE cm - - 20




THSFIR KEAEFRR (X -ABRFE- o Ethst)

=iE g 5
MEER | s | EETRE| e (ILRE) | AOHIEE UIORIAD
R5.1 R5.1 R5.1
pH - - - 7.9 7.9 8.0
BOD meg/L 0.5 - 0.8 0.7 0.5% &
COD meg/L 0.5 - 2.1 1.9 2.3
FEE  [meg/L 1 - 3 1 9
BAEEEE | me/L 0.5 - 8.1 1.6 8.4
Bt AAY [ meg/L 10 - 13800 15200
hE394 me/L] 0.0003 <0.01 0.0003%% | 0.0003%K &
£ mg/L 0.005 =0.01 0.005%;#% | 0.005%K &
7Ufizos [ mg/L 0.02 <0.05 0.01Ki 0.01K
BERMEIUNY | me/L 0.1 - o1k | o01X#
/KB - - - SMs5E1 198 SFsE1B198] S 5E1819A
SUR ° - - 5.0 9.0 8.0
KB ° - - 9.0 11.0 11.0
BER - - - # F &
=X - - - i i i

*NDIX7E & T IRER .




THSE2R KERERR (Bt k)

AEAE | B4R TR R O EE
pH - - - 8.0
BOD mg/L - - -
CcOD meg/L 0.5 — 1.6

SFHEE | me/L 1 = E3S

BEEE | meg/L 0.5 - 8.4

Bt AAY [ meg/L 10 - -

DI mg/L]  0.0003 =0.01 0.0003% %
£ mg/L 0.005 =0.01 0.005%k &

ANV mg/L 0.02 =0.05 0.01K &

BERMEIUNY | me/L 0.1 - 0.1k# |

/KB - - - SF5E28 148
SUR ° - - 9.0
KE ° — - 11.0
R - - - &=
=X - - - =

*NDIX7E & T IRER .



THSF2R KEAEHRR (CEEHRER)

BEEE | Ee e TRE| BEren (‘E-Ef?;)
pH - - 6.5~8.5 7.5
BOD mg/L 0.5 =2 0.5k &
COD meg/L 0.5 - 3.1

FEYE  [meg/L [ <25 i

BEEE | meg/L 0.5 15= 11

Bk AAY [ meg/L 0.1 — 8
hE394 me/L] 0.0003 <0.01
YTy mg/L 0.1 BHInAL
£ mg/L 0.005 =0.01

AN iVIA mg/L 0.02 =0.05
&= meg/L 0.005 =0.01

#aIK 2R me/L] 0.0005 =<0.005

FLEVKEE Tme/L] 00005 [HHEEHZELY

w71z mg/L]  0.0005 [fHESh7AZLY
1,1,1-M)400149] mg/L|  0.0005 =1

FpooIFLy [me/L]  0.002 <0.03

7+59001FLY [ mg/L]  0.0005 =0.01
14-CAF Y [ mg/L]  0.005 =0.05

JUEEEE)Y |meg/L]  0.003 - 0.003

EEAZER [mg/L 0.01 - 0.07

TUETHEZE R [ me/L 0.01 - 0.01Ki&
HIHERAE=E X [mg/L]  0.005 <10 0.005F i

FEHRSREER | me/L 0.005 = 0.41
£y mg/L 0.003 - 0.008

2EF mg/L 0.01 - 0.50

KB - - - SF5E28 148
Kz - - - Bh
B ° - - 8.5
KB ° - - 1.0
BER - - - "

2KE cm - - 30




